AN —F—FV b
B &R B E

HK'S

BT I T EMARFITREL TS0,
RSB ELCHRATHSEREETHE> TS,

AEFTHERANICDLT BHRA LI,
AEX, BHERAICHE-BIARABZOAICENTEFARALTLLEZL,

AL, TERISTTEROHRTFTAIRETY,
AN—BHEEAMGOBEAFENELLIGERITE. FONCEEVEITORFEEICTER S,

M m B | ERENFALI-F—Fvh

A & | BEREERN

3 — F No. | 15004-AN024

TR EAE M E04261-N53060-00 Ver. 3-3. 01

BinEHREM UT8J1Z3404J

A—Hh—HEE |ZwH>Y TJxF7LTs2Z (CBA-Z34)

oo A | VQ37VHR

x o F K | 2008/12~

& %

MEESEBOFEXIE, 2009 F 06 ARAEDHLDTY,
2009 £ 06 ALIRRICEFINEERADOBESICDOVTIE, BEFMBEHREICSBVEDOE CZEL,




OMIANELES

& 2 mINAE B ¢ BA
FINEAR—R TSy b —ERUIET RAF—ILIR 2. (2
BFRTZviaHA—F — &R P P %ihE 5. (4

OBl &L EE
T it B
IOV AIL #5.7L (#f1E 4.9L+0.8L)
TANLT4ILE— #HIE F2 % : AY100-NS004
ET D EC &%
L ETNo. B XL B ZE E RN B
3-3.01 2009/07 MR

2009 £ 07 A 10 BT (ZEMEES., EHMWITvF - 7—-IX

-1 - HKS 0il Cooler Kit
NISSAN FAIRLADY Z 2008/12~



IN—Y )R | No. 1
EE RS o HE e
1 15006-AK004 ANy —5—a7 1
2 | 2599-SA008 7 & T B —T Assy 1
3 | 2599-SA010 TAYFAERRILE 1
4 | 15999-AK001 0y>y 1
5 | G15750-K00900-00 R—X Assy @ (90° —110cm—90° ) 1
6 | G15750-K00910-00 R—X Assy @ (45° —95cm—150° ) 1
7 | G15721-N53160-00 I3y O 1
8 | G15721-N53170-00 T39O 1
9 | G15731-N53100-00 IT7HA RO 1
10 | G15731-N53110-00 I7HARQ 1
11 | G15731-N53120-00 I7HAFQ 1
12 | G15731-N53130-00 I7HAF® 1
13 | G15731-N53140-00 I7HAR® 1
14 F v THRIL kM6 L=15 15
15 Fv v THRIL L N8 L=20 1
16 RAa 2RI kN4 =8 15
17 7704k M6 15
18 o004+ vhk M8 1
19 Fv kb W4 15
20 v M6 F 15
21 vl M6 O K& 1
22 7y M8 FH 1
23 7yl M4 30
24 LS —kFa—T ¢ 22 L=2000 1
25 RAL5vT(K) 10
26 BAZvT () 10
27 | E04261-N53060-00 H{tEREAE 1
28 ke BAE 1

HKS 0il Cooler Kit

NISSAN FAIRLADY Z 2008/12~



® (®

90° —110cm—90° 45° —95cm—150°




MKN—V )X FADERDPICIE FHENRN—VELTHEELTHLSBREHY TIT DT RIECEADKRZ.
ZEtEUA—IIBRVEDE (S,

ZEEUA—
TEL:0544—29—1234
FAX:0544—29—1151

-4 - HKS 0il Cooler Kit
NISSAN FAIRLADY Z 2008/12~



1. 7 —=L—YESL - BE

BEEESICR-THEETE S,
1) NyTYDOTAFRimFiEHREIRMNT,
(2) 3L, MET S,

- 282 bR UNR—IZE, Ry TT7vTROFy MEBIA
DR THL. REFBIELUVII—RR%E
HEBWEHIZ, Ny TUDITAFRimFiEHRZERNL
%. SHLULOMENALE,

Q@) TP TUEHN—FRNT,
4 72O kA oF—0 08 —FBHNT,
B) TUOUFAINEIRRS,

6) HTEEUY—DOHTS5— (#E) #BHNd., (EEL 1 &)

(M 28 kNUR—FZBN LGNS, FoN—TL—FED
SAFE L H—DOHTS5— (ER) BN,

8) BEIDSITEELY—DHTS5— (HE) LU,
IN—RADYZ Yy TET7OY FNVISR—DBES T,

STELY—HT5—(H)

202 FNN—ZE4{|

9) 22 NI IRILXFTFTITY—N—FEBHNT,
(10) 282 bNNUISLA VT H—R A2 FERST,

1) Sox—42 )L Y4 FT7HA KH) 859,

-5 - HKS 0il Cooler Kit
NISSAN FAIRLADY Z 2008/12~



2. ANEF—8TS545y FOMT

N FNE2R—=2TZ7y FERNT, (2) RENDLIE TODNES EENH D,

Q) YIS =ER TR ERES .
(4) TORE~NERMTIT S,
6) ODBAEEL TH2I=/N—FRREZA SV T (R) THILEFR—2TS 7y MZEET 5.

-6 - HKS 0il Cooler Kit
NISSAN FAIRLADY Z 2008/12~



3. AANG—5—a7OBHF (1)

OFHIZRLIEUSNDARIL bk - v FEIZUT %

ERT %,
—FANG—5—aF7ETSHY b,
I7H4 FOERE (8 &Ffr)
- vy TARIL N6 L=15
- 7Sy kN6
- TJL—2wiw M6 t=1.6

—I7HA4 FRITOEE (13 &Ffr)
- RE 2RI M L=8
-Fv bk M
- TL—ryi v M x2

I7HA KD

C e IT7HA KD
I7H4 E®
TS5
-7 - HKS 0il Cooler Kit

NISSAN FAIRLADY Z 2008/12~



(1 P/SYU—Z—0EFEHRIL Q@ % QTT7HA FO~QZFATICEASTIT S,
)T

Q) F7345 vy rO. QFaT7ICEfTIT 5,
4) a7 ZEmRfTIT+5,

ARR/BEEVH—N—RAD
)y TERSNL., TORIC
TS5y POERfIT S,
Xy TRILE N6 L=15
ISV FY b N6

- JL—rIvsw N6

- Iﬁm \\wmwwu\ mumu. i ‘ o

i
LS
" Il |

R

- DIEP/SHY—Z5—DBEERIL 2 E) #BFER,
- QIXETAIZM6 +v FADNTWBIEEIZIE.

FroywTHRILEN L=15/TL—2T v+ M6

THUF 5,

M6+ A DT UL LMEEIZIX.

Ty v THRILEME L=20 /2S5 Fw M8

/TL—2 vy M8 TEfTIF 5,

-8 - HKS 0il Cooler Kit

NISSAN FAIRLADY Z 2008/12~



®) T7HA K@, OFMEILTS,
6) (5) ZEmftI+5,

-9 - HKS 0il Cooler Kit
NISSAN FAIRLADY Z 2008/12~



4. 7HF2H—F ASSY DERft I+ |

() AA4NLT1ILE2—FE5NT,

2) OULTIZZIOO VA A INEEHRT S,

Q) DDF7HETEHY—FEIZQ DO T EWFIT5,

4 QOF7RAYFAVERILETTETA
Y—EE2I VD UITRMITT B,

[Q]]

XT7RYFAYMRIL COEEIES. —R ASSY QB IHTHT

- 10 - HKS 0il Cooler Kit
NISSAN FAIRLADY Z 2008/12~



5. R—2Z ASSY DERft 1+ |

4 N

R—=RASSY LA T b

R— X ASSY(D
(90° — 110cm —90° )

R— X ASSY®
(45° — 95cm —150° )

FTANO—5—27F

\_ )

1) ZRFNADHR—RAASSY (2, AT —bFa—T 922 %5<,
- A4Sy T () (x4)

(2) R—R ASSY® (45° —95cm—150° ) # 7 & T A H—F ASSY [Z{RfF(+T B,

@) QD 45 T4y TAVITEMITBEC, T4 9 T4 TDRAFHAILE R—5 £ Tnm D
DIVTSVREBBUBTTRAYF AL bRIL EHTIT 5,

T=17.7 (1.8)

e
DIUT S RERET B,

(4) &HR—Z ASSY ZEftI1+ 5,
(5) R—XASSY BNEEMFSHLLEWKSITFA 5y TTEET %,
6) EmZEYIFT7YTLT, RAELEFR—RASYDOD T4 v T4 VI FHLENI L2HRT 5,

- 11 - HKS 0il Cooler Kit
NISSAN FAIRLADY Z 2008/12~



RAEETAYTAVINRFHELENI LR
R 5,

ol v

R Assy #H A4 KA IN—AFETE,
cBAS5yT () (x2)
cBALS5yT (K) (x2)

KOO THE -85 % HR—R AssyD&Fi5 LA
W&S5mMTd 5,

R—X ASSY®Q

P/SH—S5—D/\1 TEBE~NE A4Sy TTEE, B4 S5y TTHR—ZR Assy AT Z#EE,
cBALS5y T () (x3) cBALS5y T () (x2)
R4Sy T (K) (x3) cBALS5v T (K) (x2)

- 12 - HKS 0il Cooler Kit
NISSAN FAIRLADY Z 2008/12~



6. /—<IL/S—YOETIT

() AA4NLT 1 LEZ—FWFIT5,

2 ToPoFANLEHLILANSG, (/—<)L4.9L+0.8L)

@) 7Y rNUN—=ZFRIFF L. NoN—FREBEBADSITEEL Y —FBTF. o NoN—EEDSH
B —H TS5 —%EHKRT D,

) NyT—DOIAFREGEFEERT B,

B) TUPUEREL TIESER GHE 75°CLL) #1T0\., EEITHRNALS B ONERT S,

6) Ny TU—DIAFREGEFERNT,

(M 3L, MET B,
TEAAR
- 78y bNUNR—IZIE, Ry T7y TRy MEBIRAD Y —DEF T TH D, RIEEBH LV
IS—RRTEHIBUVEDHIZ, Ny TUVOIA FRIGFEREZINLE. SPULOKELNBE,

8) 7B bINVIR—FES T,

9) ZRY NNV TH—R A FERFITS,

(100 722 b TRUVLEXFT TY—N—FBftT+5,
(1) 282 bANUIN—FRFIT5,

(12) HTEEIY—OHTS— (ER) Wt T5,

(13) EREAVF—7 8 —%Wft1+5,

(14) TPV TF7 T AN—FBIFIT5,

MKET TR TR, BT EIRRAED TET RO IS/ THEEBERZTLE->TLESL,

- 13 - HKS 0il Cooler Kit
NISSAN FAIRLADY Z 2008/12~



OIL COOLER KIT
INSTALLATION MANUAL

HK'S

NAME OF PRODUCT OIL COOLER KIT

PART NUMBER 15004-AN024

APPLICATION NISSAN FAIRLADY Z / CBA-Z34
ENGINE VQ37VHR

YEAR 2008/12 —

REMARKS

% This kit was designed on a JDM vehicle and has not yet been
tested in other markets.

O The following modifications to factory parts are required in order to install this kit:

Parts Name Modification Material Details
Alternator Bracket Partially cut Steel Board See 2.(2)
Right Front Splash Guard Partially cut PP Resin See 5.(4)

O The following items are required:
I[tems Name Description
Engine OIl Approximately 5.7L (Standard Volume 4.9L +0.8L)
Oil Filter Factory Part Number: AY100-NS004
NOTICE

This manual assumes that you have and know how to use the tools and equipment necessary to safely
perform service operations on your vehicle. This manual assumes that you are familiar with typical
automotive systems and basic service and repair procedures. Do not attempt to carry out the operations
shown in this manual unless these assumptions are correct. Always have access to a factory repair manual.
To avoid injury, follow the safety precautions contained in the factory repair manual.

REVISION OF MANUAL
Rev. Number Date Manual Number Details

3-3.01 2009/07 E04261-N53060-00 1% Edition

Published in July, 2009 by HKS Co., Ltd. (Unauthorized reproduction is strictly prohibited.)



PARTSLIST No.1

No. Part Number Description QT Remarks
1 | 15006-AK004 Oil Cooler Core 1
2 | 2599-SA008 Adapter Thermo Assembly 1
3 | 2599-SA010 Attachment Bolt 1
4 15999-AK001 O-Ring 1
5 | G15750-K00900-00 Hose Assembly #1 (90°-110cm-90°) 1
6 | G15750-K00910-00 Hose Assembly #2 (45°-95cm-150°) 1
7 G15721-N53160-00 Bracket #1 1
8 G15721-N53170-00 Bracket #2 1
9 | G15731-N53100-00 Air Guide #1 1
10 | G15731-N53110-00 Air Guide #2 1
11 | G15731-N53120-00 Air Guide #3 1
12 | G15731-N53130-00 Air Guide #4 1
13 | G15731-N53140-00 Air Guide #5 1
14 Cap Bolt M6 L=15 15
15 Cap Bolt M8 L=20 1
16 Button Bolt M4 L=8 15
17 Flange Nut M6 15
18 Flange Nut M8 1
19 Nut M4 15
20 Washer M6 15
21 Washer M6 Major Dia. 1
22 Washer M8 1
23 Washer M4 30
24 Corrugated Tube 22mm L=2000 1
25 Tie Wrap (L) 10
26 Tie Wrap (M) 10
27 | E04261-N53060-00 Installation Manual 1
28 Instruction Manual 1

-1- HKS Oil Cooler Kit

NISSAN FAIRLADY Z 2008/12-



Main Parts } \

90°-110cm-90° 45°-95cm-150°




| 1. Removal and Relocation of Factory Parts

Use this instruction manual and the manufacturer’s service manual as a reference.

)
)

©)
4
®)

Disconnect the negative cable from the battery terminal.

Leave the battery disconnected at least for 3 minutes.

A hood-up operation sensor is installed on the front bumper. To prevent malfunction and/or
displaying the error message, the battery must be left off for at least for 3 minutes once the cable is
disconnected.

Remove the engine under cover.
Remove the front inner fender.

Drain engine oil.

(6)

7

®)

Disconnect a dark blue proximity sensor coupler from
both sides.

While removing the front bumper, disconnect a yellow
proximity sensor coupler behind the number plate.

Disconnect a dark blue proximity sensor coupler from
the right side, and remove the harness clip from the
front bumper.

Proximity Sensor Coupler
(Right)

Behind the Front Bumper

©

Remove the front bumper energy absorber.

(10) Remove the front bumper reinforcement.

(11) Remove the right side radiator grill air guide.

-3- HKS Oil Cooler Kit
NISSAN FAIRLADY Z 2008/12-



| 2. Modification of Alternator Bracket

(2) Cut off Portion D at the position the arrow in
the diagram indicates.

(1) Remove the alternator bracket.

(3) Rust-proof the cut portion.

(4) Reinstall the alternator bracket to its original position.
(5) Secure the harness that was secured to @ to the alternator bracket using the provided Tie Wrap
(M).
Tie Wrap (M) (x1)

-4 - HKS Oil Cooler Kit
NISSAN FAIRLADY Z 2008/12-



| 3. Installation of Oil Cooler Core (1)

Use the following hardware for installation other
than bolts and nuts specified in the diagram.

Mounting the Oil Cooler Core, Bracket, and Air
Guide (8 points)

Cap Bolt M6 L=15

Flange Nut M6

Flat Washer M6 t=1.6

Mounting the Air Guide (13 points)
Button Bolt M4 L=8
Nut M4
Flat Washer M4 (x2)

Air Guide (1)

Air Guide @)

Air Guide (5

Air Guide (3)

Air Guide (@

Bracket 2

/

HKS Oil Cooler Kit
NISSAN FAIRLADY Z 2008/12-



(1) Remove 2 P/S cooler mounting bolts.

(2) Install Air Guide D-Q to the Core.

(3) Install Bracket M and @ to the core.

(4) Install the Core.

harness,

Remove the clip from the
outside temperature sensor

Bracket D to the hole.

- Cap Bolt M6 L=15
- Flange Nut M6
- Flat Washer M6

and install

e

Bracket (.

washer M8.

Reuse 2 mounting bolts of the P/S cooler to install

Install @ using a cap bolt M6 L=15 and flat washer
M6 if the M6 nut is used to the vehicle side. If not,
use a cap bolt M8 L=15, flange nut M8, and flat

-6 - HKS Oil Cooler Kit
NISSAN FAIRLADY Z 2008/12-



(5) Assembly Air Guide @ and ®.
(6) Install the assembled Air Guide.

| 4. Installation of Adapter Thermo Assembly

(1) Remove the oil filter.
(2) Apply the engine oil to the O-ring Q.

(3) Install the O-ring to the Adapter Thermo (.

(4) Temporarily install the Adapter Thermo to the
engine using Attachment Bolt 2.

¥ The attachment bolt will be tightened in the next
section.

-7 - HKS Oil Cooler Kit
NISSAN FAIRLADY Z 2008/12-



| 5. Installation of Hose Assembly

4 N

Hose Assembly Layout

Adapter Thermo Assy

Hose Assy @D
(90°- 110cm-90°)

Hose Assy @
(45°- 95cm-150°)

K Oil Cooler Core /
(1) Wrap each hose assembly with the provided Corrugated Tube 22mm.
* Tie Wrap (M) (x4)

(2) Temporarily install Hose Assembly @ (45°-95cm-150°) to the Adapter Thermo.

(3) Make sure there is approximately 1mm clearance between the adapter fitting and the alternator
before tightening the attachment bolt. Follow by tightening the 45° hose assembly fitting.

6T SpECHNEmIKGHm) T=17.7 (1.8)

Adjust the clearance between the alternator
and adapter thermo assembly fitting.

(4) Install each Hose Assembly.

(5) Secure each Hose Assembly so they do not to come in contact with each other using the provided
Tie Wraps.

(6) Lift the vehicle up to make sure the stabilizer bar does not come in contact with the Hose Assembly
@ fitting.

-8- HKS Qil Cooler Kit
NISSAN FAIRLADY Z 2008/12-



Make sure the fitting does not come in contact
with the stabilizer.

Cut the circled portion so Hose Assy D
does not come in contact with.

Secure the Hose Assy to the side member.
Tie Wrap (M) (x2)
Tie Wrap (L) (x2)

BV~ 1Y
Hose Assy @ &

Secure the hoses to the P/S cooler piping
using the provided Tie Wraps.

Tie Wrap (M) (x3)

Tie Wrap (L) (x3)

Bundle the hoses using the provided Tie
Wraps.

Tie Wrap (M) (x2)

Tie Wrap (L) (x2)

HKS Oil Cooler Kit
NISSAN FAIRLADY Z 2008/12-



| 6. Reinstallation of Factory Parts

(1) Reinstall the oil filter.

(2) REefill the engine oil approximately 5.7L (The standard volume4.9L + 0.8L).

(3) Temporarily install the front bumper, and install the proximity sensor behind the center of the bumper.
Reconnect both sides of the proximity sensor couplers.

(4) Reconnect the negative cable to the battery.

(5) Start the engine, and let it idle until the oil temperature rises higher than 75°C. Make sure there is
no leakage.

(6) Disconnect the negative cable from the battery.

(7) Leave the battery disconnected at least for 3 minutes.
* A hood-up operation sensor is installed on the front bumper. To prevent malfunction and/or

displaying the error message, the battery must be left off for at least for 3 minutes once the cable is
disconnected.

(8) Remove the front bumper.

(9) Reinstall the front bumper reinforcement.

(10) Reinstall the front bumper energy absorber.

(11) Reinstall the front bumper.

(12) Reinstall the left and right sides’ proximity sensor coupler.
(13) Reinstall the left and right side inner fenders.

(14) Reinstall the engine under cover.

3 After the installation process is complete, check all items listed in the “Confirmation after Installation”
section of the Instruction Manual.

-10 - HKS Qil Cooler Kit
NISSAN FAIRLADY Z 2008/12-



	日本語版15004-AN024(E04261-N53060-00)Z34 OCK 0821.pdf
	英語版15004-AN024(E04261-N53060-00)Z34 Single Core OCK 0821

